| MEDL S - Ty [ T 710
x| BETIEREAT .
= o 3 P J?: jc g IE jz
T AT
20 h=1.2mkEFEELEITE. COEZEOHAPIEMAFOT v h=1.2mEB5FH. CDEEDEH P IRFTLW A,
Lo ke
21
29 S : g S . : . ey
(M48) 15kW oMK%, HH 8BTS 6 HEBE S ¢/ & X ORI (P 48) 15kW OmEI%, HH 8 TS 6 HMBES €7 & X O
2 e *07 v MERERD &, KW hA%sRo &,
30
W=100N _
J W=100N
A B
[ ] A B
3 103 |[¥ 3-39 a [ ]
» =300 b=300 * 2 4
R, 00 Ry B a=300 b=200 .
+ =500 b
(a) w
o
4 | 108 ] 16 Mrz Hr %
1




| MEORL S - &y [ T 710
F| FTIEE AT = e 2 T <
=] 17
, _ ’ [ -
5 | 164 | 28 BB 1 1 = e = 1. 10 BB 0 = Lo =115,
6 | 225 [m7-26
ZDfDAR ZDDAR
sinf (90° — @) = cos @ sin(90° — @) = cos@
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sinA ~ sinB  sinc sinA sinB  sinC
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